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x

y
<latexit sha1_base64="MSyYMExTYJaFKE3NxU7Gfpj1kUw="></latexit>

Ez 6= 0 _Bz 6= 0



Guias de ondas

<latexit sha1_base64="r1ELm4kIh0ifc/huJmGXLBOglTI="></latexit>
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Ẽ = Ẽ0(x, y)e
ikz�!t

B̃ = B̃0(x, y)e
ikz�!t

<latexit sha1_base64="sJUscn1Xg1sLCE5EclRQDbR7fRU="></latexit>

Ek = 0

<latexit sha1_base64="RcbBR65rJfcDS3dsGY+PHImNKhE="></latexit>

B? = 0
z

y

x

<latexit sha1_base64="5nCKRa7aaNd9XA8r5o9YQJ/cnMI="></latexit> 
@2

@x2
+

@2

@y2
� k2 +

⇣!
c

⌘2
!
Bz = 0

<latexit sha1_base64="e4pPGTqSRR4wwatgO/btSyNJQLs="></latexit>
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